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Answers Level 18 Answers Level 18

300=6> Pxa=22 ’x8=6> | °x9=42 |°x12=10% 300=62  Pxa=22 Ix8=6> |°x9=422 °x12=10%
4 4 3 3 9 9 11 11 |7 7 4 4 3 3 9 9 11 11 |7 7
Zwa=3L  Bxg=71 12412=921%8=6> “x9=7~ Zwa=3L  Bxg=71 12412=021%8=6> “x9=7.

9 9 9 9 11 1117 7 8 8 9 9 9 9 11 1117 7 8 8
27=4> Pxg=4% |[Bx9=62 x7=6- Px6=3> 27=4>  Px8=4% |12x0=62 Ux7=6- P x6=3

8 8 5 5 11 11 |8 8 5 5 8 8 5 5 11 11 |8 8 5 5
57=52  Ex9=51 2411247 Px7=51 | Zy12-82 57=5-  [Ex9=51 |2411=24-"Px7=5% | 2x12-8>
8 4 7 7 12 1214 4 11 11 8 4 7 7 12 1214 4 11 11
Zxa=3" Pxe=4  [2x6=32 | 2x9=6> |—xd=2- Zxa=37 Pxe=4  [2x6=32 |x9=6> |—xd=2-
12 3 9 7 7 12 4 12 3 12 3 9 7 7 12 4 12 3
741229 Myo=gl 241232245231 %xg=22 7912=91 Eyxo=81 1241232 Pyx5=3  [%xa=2Z

9 3 (12 4 11 1118 8 7 7 9 3 |12 4 111 11(8 8 7 7
A=  Ex11=10=x9=71 | 2x11=52 Px10=8> Ae8=1%  Ex1=10—Cx9=71 | 2x11=52 Px10=8>
7 7 12 121g 2 12 26 3 7 7 12 121 2 12 2 |6 3
A5=31 I 2y11=71 1x10=82 [Ex12=6° ’x11=9> 45=3t 1 2y11=71"x10=82 Ex12=6° [’x11=9>
6 3 12 318 4 |7 7 |8 8 6 3 12 3 (8 4 |7 7 |8 8
10 10 |5 5 3 3 6 513 3 10 10 |5 5 3 3 6 513 3
- 12=10_ - =>H—- - =0— |— =H—\ =5 Y 12=10_ - =H—- - =o— |— =DO—| =9
221007 27=5" [ °X11=6> [°x10=5-x5=3- 22100752 SX11=6= [“x10=5--1x5=3-
28=6> I2x11=9° Px12=8% [“x11=8> |2x12=5% 5x8=6> 191129 [Px12=8% ’x11=8> [2x12=5-
6 3 7 7 |7 7 19 9 |9 3 6 3 7 7 |7 7 19 9 |9 3
éx7=5E éx7=4z Zx7=5i ix9=7i lx8=5§ ix7=5E ix7=4z Zx7=5i ix9=7i lx8=5§
5 5 6 3 9 9 11 11 (10 5 5 5 6 3 9 9 11 11 |10 5
Ze8=5- 1 %11=01 P%10=01 17 xg=5" [Px7=2% Zy8=5-  %11-91 1%10-01 1 x8=5-1 [2x7=22

3 3 12 6 |11 11|11 11 |5 5 3 3 12 6 (11 11111 11 |5 5




